
6.9 Notes – Logs with other bases 
 

Objectives: 
1) Rewrite an exponential equation as a logarithm. 

2) Evaluate a log. 

3) Solve a logarithmic equation. 
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2  the exponent is called a base 2 logarithm.  

2
5 log 32       5 is “log to the base 2 of 32” 

 

  Fill in the table below.     

Exponential  form Logarithmic Form 
 

3
log 81 4  

3

6 216  
 

 

3

1
log 4

81

   

 
log0.00001 5   

5
1

2

32

   

 
25

1
log 5

2



3

5

32 8  

3

1 1

4 64

 
 

 

 

     

 

1)  If 
4

3          , then 
3

log 81      2) If 
0

9           , then 
9

log 1   

 

 

3) 
2

log 64   4) 
4

1
log

16

   5) 
3

log 243    6) 
25

log 5 

    

 

 

7) 

7

1
log

49

  8) 
8

log 4    9) 
8

6
log 6    10)  

3
log 11

3  

 

  

 

Logarithm:  A logarithm is just an __________________________!  

 

log
b

y x     if and only if   

y

b x , where 0, 0, 1x b b    

y is the logarithm 

b is the base 

x is the argument 

10
log logx x

 

480/81 
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Notes 

 

Evaluating logs 
 



 

 

A logarithmic equation can ask you one of several things:  1) to find the argument 

             2) to find the logarithm/exponent 

             3) to find the base 

 
 
Finding the argument:   

11) 
3

log 4x       12) 
2

log 6x    13) 
1

2

log 4x     14) 
8

4
log

3

x   

 

 

 

 

 

 

 

 

 

Finding the logarithm/exponent:   
 

15) 
2

log 8 x     16) 
27

log 81 x   17) 
1

4

log 16 x   18) 
1

4

log 64 x


  

 

 

 

 

 

 

 

 

 

 

Finding the Base:   
 

19) 
2

log 4

3
x

     20) 
1

log 2

16
x

   21) 
1

log 2

4
x

    22) log 4 0
x

  

 

 

  

 

 

 

 

 

 

Solving logarithmic equations 


